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IR (&)
ERR2BEE | SER26FEEE | CERR2TAREE | ERK2SAERE | SRR 29MF L
H 85— /NP 42 42 42 42 42
BN 42 42 42 42 42
HEPEE = /N 41 41 41 46 46
H B 55 DU/ N 41 41 41 41 46
HBP 55 /N 41 42 42 42 44
EESTVAVINESE 41 41 41 41 46
EfrANE 59 41 41 41 46 46
LN 42 42 42 42 42
B YIVIN=5 42 42 42 42 43
CREANE 2 42 42 42 42 42
ELSS RN 42 42 42 42 43
R N 41 41 41 41 46
JEDS B/ VAR 42 42 42 42 43
HOGTF/NFAR 41 42 42 42 44
(GIEERANE I 41 41 41 41 46
BEIN FL/ N 41 42 42 42 44
AR N 41 41 41 46 46
Al 704 707 707 722 751
HEER
SRR 254ERE | SERR264EE | SERRRTAERE | ERR2SAESE | SERR294EE
A 85 5 — s 41 41 41 41 46
S e o 41 41 41 46 46
AR 43 43 43 46 46
A Bp 55 = P 41 42 42 42 44
H B 25 00 A 43 43 43 43 46
IR 43 43 43 43 46
KR bR EEA 41 42 42 42 44
L AR 41 42 42 42 44
Al 334 337 337 345 362
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TR - FEE o B — 2 —

TN ()
ERR2BEE | SER26FEEE | CERR2TAREE | ERK2SAERE | SRR 29MF L
H B 5 — /N 15 16 16 16 16
BN 23 23 23 23 23
HEPEE = /N 14 15 15 15 15
H B 55 DU/ N 377 375 375 372 372
H PP 55 /N 14 14 16 16 16
EEST VAVINEE 25 24 24 24 24
EfRANE 59 25 26 25 25 25
LN 319 323 404 557 555
EESTYAVIN=2 27 27 27 27 26
CREANE I 13 13 14 14 14
H B 5 /N 18 17 17 17 17
[FERINE i 19 19 19 19 19
JEDS B/ VAR 18 18 18 18 18
BOtSF/ VAL 18 17 18 17 17
i N 12 12 12 12 11
BEIN FL/ N 12 12 12 12 12
gt S VINE 5 16 18 18 18 18
ARl 965 969 1053 1202 1198
HFAR
WRR2BFEE | EER264E | SERR2TAREE | R8RS | A9
A 85— i 15 18 20 18 18
B i 12 13 13 53 53
LA TR 22 14 14 14 14
S e 200 10 10 10 10 10
H 5 25 DU R A 19 19 19 19 19
ERNGREE = '3 22 22 22 22 22
KK b P 2Ed% 18 18 18 57 57
MR 9 10 10 10 10
Al 127 124 126 203 203

BB ERICTIE R fEte =




Tal g H—
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R | SERR264RE | SERRTAREE | SERR28EE | Rk 29E
HEPEE — /N 8 8 8 8 8
SN 10 10 10 10 6
A B =/ N 15 15 15 15 15
ELSE AN 13 13 13 13 19
A B9 5 /N 10 10 8 10 10
ELS AVIN= 2 8 8 8 8 8
ERUNE 5 12 12 12 12 12
LN 8 8 8 8 8
EEST AN 8 8 8 8 7
G REANE 5 8 8 8 8 8
A B 5 L/ N 10 10 10 10 7
RN 8 8 8 8 14
JEDS B/ VAR 8 8 8 8 8
BT NFAR 8 4 4 4 8
ff /N AR 8 8 8 8 13
b NININE 7 7 7 7 7
QIS VNG5 9 9 9 9 5
i 158 154 152 154 163
HEER
SRR 254ERE | SERR264EE | SERRRTAERE | ERR2SAESE | SERR294EE
A 85— s 10 10 10 10 10
HEPEE e 8 8 8 8 8
AR 9 9 9 9 9
A BP 5 = P 10 10 15 10 10
H 5 265 00 R A 13 13 13 13 7
IR 10 10 10 10 9
KR bR EEA 8 8 8 8 8
L AR 11 11 11 11 6
Al 79 79 84 79 67
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IR (&)
ERR2BEE | SERR26FEEE | CERR2TAREE | ERK2SAERE | SRR 29MF L
H 85—/ N 6 6 6 6 6
BN 8 8 8 8 0
HEPEE = /N 20 20 20 20 20
H B 55 DU/ N 30 31 31 31 28
H 8P 55 /N 6 6 9 6 6
HBF 55 /S /N 12 12 12 12 7
R NE S5 31 31 31 31 31
LN 35 35 35 35 41
B PIVAN=5 33 33 33 33 0
CREANES I 20 20 20 20 14
H B 5 /N 6 6 6 6 0
R N 6 6 6 6 0
JEDS B/ VAR 24 24 24 24 0
BOtSF/ VAL 27 28 28 28 28
frp FH /N 7 7 7 7 1
BEIN FL/ N 7 7 7 7 10
gt S VINE 5 9 9 9 9 1
ARl 287 289 292 289 193
HPAR
WRR2BFEEE | EER264E | SERR2TAREE | R8RS | R4
A 85— i 6 6 6 6 0
B e i 11 11 11 11 11
LA TR 12 12 12 12 12
S e 200 16 16 16 16 16
B U223 6 6 6 6 2
ERNGREE = '3 16 15 15 15 12
K b s 6 6 6 6 0
MR 15 15 15 15 0
Al 88 87 87 87 53
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R | SERR264RE | SERRTAREE | SERR28EE | Rk 29E
A B3 —/ NP 15 16 18 16 16
SHENFR 23 26 28 26 29
A B =/ N 17 18 18 18 19
EESE N2 27 26 26 26 30
ELS R WIN= 14 16 22 16 16
ELS AVINE 2 27 26 26 26 26
EERRANE 2 25 26 25 25 25
LN 22 23 23 23 26
EEST VAN 27 29 29 29 29
CRSVANE=Y 3 17 18 18 18 18
SRS RN 18 18 18 18 20
[FERINE= 5% 21 21 21 21 22
JEDS B/ NRAR 20 20 20 20 20
I e ANE 1Y 16 17 18 18 18
i /NP 13 13 13 13 13
b NININE 14 14 14 14 15
LAERR N 20 20 20 20 17
i 336 347 357 347 359
H AR
WRR2BFEE | EER264E | SERR2TAREE | SERR28AEE | A9
A 85— i 15 19 19 19 19
B i 12 13 13 13 17
LA TR 13 15 15 15 15
HBP 55 = hae 11 11 11 11 14
B U223 26 29 30 29 33
SRR 26 26 26 26 15
KK b P 2Ed% 19 20 20 20 29
SRR i§ 11 12 12 12 16
=X 133 145 146 145 158
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R | SERR264RE | SERRTAREE | SERR28EE | Rk 29E
A B —/ N 44 44 43 43 46
SN 48 48 48 48 51
A B =/ N 41 41 40 40 42
BRSNS 45 45 44 44 46
A B9 5 /N 41 40 39 40 42
ELS AVIN= 2 47 46 46 46 48
EEERANE 2 47 46 46 46 49
LN 47 46 46 46 48
EEST AN 53 52 52 52 55
AN 39 40 39 40 52
A B 5 L/ N 40 39 39 39 41
[FERINE= 5% 47 46 46 46 48
JEDS B/ VAR 41 40 40 40 42
BT NFAR 41 42 40 40 44
i /N FAR 34 33 33 33 35
b NININE 33 32 32 32 34
LAERR N 42 42 41 41 44
i 730 722 714 716 767
HEER
SRR 254ERE | SERR264EE | SERRRTAERE | ERR2SAESE | SERR294EE
A 85— s 45 43 46 49 55
HEPEE e 39 39 41 41 47
AR 46 43 45 45 49
HEPEE = e 40 40 40 42 48
H 5 265 00 R A 51 49 49 49 54
IR 56 55 54 54 58
KR bR EEA 56 55 55 55 60
L AR 36 35 35 53 43
Al 369 359 365 388 414
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IR GE~[EHD
RR2BAEEE | ERK26EREE | SER2TAEEE | SERK28EEE | Rk 294
H 85—/ N 11 13 10 10 6
BN 23 21 7 11 6
HEPEE = /N 18 16 12 24 11
H B 55 DU/ N 50 20 8 5 14
H PP 55 /N 18 42 51 21 31
EEST VAVINEE 49 76 20 15 27
EfrANE 59 22 39 18 9 3
LN 58 103 34 26 14
EESTYAVIN=20 43 10 15 12 11
CREANE I 30 32 25 18 22
H B 5 /N 17 50 20 8 4
[FERINE i 9 7 12 1 5
JEDS B/ VAR 17 19 21 4 5
HOCTF/NFAL 12 23 9 1 3
(GIEERANE I 12 9 5 7 5
BEIN FL/ N 21 25 11 12 12
gt S VINE 5 5 8 3 34 3
Al 415 513 281 218 182
HPAR
RS2 EE | ERR264EEE | SERKTAREE | P8RS | SERk294F
A 85— i 20 27 15 6 15
B i 27 25 16 5 10
EAH TR 15 22 9 10 4
S e 200 36 36 28 11 7
B U223 23 13 19 4 10
ERNGREE = '3 14 7 2 10 9
KK b P 2Ed% 21 7 13 14 4
MR 13 18 14 12 10
Al 169 155 116 72 69
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